/’ LINE OF HINGE PIN (RAMP)
/NORTHERN ANCHOR.

- 160x12 FLAT FULLY
(OPT\ONAL) BACKUP TETHER WELDED TO FRAME
ASSEMBLY. INNER CABLE. FITT
LOOSE. WITH 300mm DRAPE

OVER OUTER CABLE.

M20 EYE NUT
316SS. TYPICAL.

PRIMARY TETHER ASSEMBLY.
TENSIONED. OUTER CABLE.

) - LINE OF HINGE PIN
e i N (RAMP) SOUTHERN

, 45 . ANCHOR.

\ PONTOON FRAME

45N-TYP. TETHERS WHEN
SET

PROPOSED 406x9.6 DIA.
STEEL, CABLE ANCHOR PILE.

TYPICAL PLAN OF WIRE ROPE ASSEMBLY

DETAILS
SCALE:
1:10

M20 EYE NUT 316SS. TYPICAL. M16 JAW/JAW MIN. 3x8mm WIRE

|
: M16 DEE SHACKLE RIGGING SCREW ROPE GRIPS 316SS M20 EYE NUT
100x10 FLAT 3165S i Bmm 7x19 WIRE 31653
PROVIDE NON— i ROPE 316SS
SHRINK GROUT BED |
TO SUIT.

COPPER FERRULE /

MACHINE CRIMPED

PROVIDE 2M20 SS 31 !

EYE BOLTS 500 LONG),GX [ \

CAST MIN. 450 INTO CHS. [ 8mm THIMBLE 316SS PONTOON FRAME
! 35 PARTIALLY SHOWN

M16 DEE SHACKLE
316SS

12mm 31655 ROUND

BAR WELDED ACROSS
ALLTHREAD \ —~———406x9.6 GRADE C350.
CONCRETE FILLED.
DRILL 6000 INTO

EMBANKMENT
q
- TYPICAL ELEVATION OF WIRE ROPE ASSEMBLY DETAILS
SCALE: 1:10
TOP OF ABUTMENT
1500
N rp—r
"ABUTMENT TO RAMP
H‘HH‘HJ\\HHHHHH\HHH\HHH\HHHH\‘LHHHH”" BRACKET DETA‘LS‘ T\(P‘CAL'
93 REF ; ; ; 4 T
—D— - < 160
‘ i ) L
4 < A
4 4 < <
160 eg0 ¢
PR g a A3™N——DRILL 26mm DIA HOLE TO
a4 7 ACCOMMODATE 4M24 SS
aaf a4 9 \ (316) CHEMSETS. MIN 300
A 4 kil EMBEDMENT INTO
ABUTMENT BLOCK. 70mm
OUT OF BLOCK FOR
ELEVATION ON RAMP TO ABUTMENT FIXING BRACKET TYPICAL.
PROPOSED ABUTMENT
SD&IEA\LS BLOCK BEHIND HINGE
1:10 PLATE.




